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The Value of Open Data
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The value of Research Data
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How big is big?
1 plain text character can be So 1 normal page (@ little 333 pages (a stack about 33 mm 333000 pages equates to) At terabyte our paper stack 1 petabyte makes a stack 1 exabyte makes a stack 333
thought of as (approximately) ~ more than 525 words)... high—a little more than half a 1gigabyte is 33 km high. 33300 km high. million km high. We're talking
1byte of data. — ream) equates to 1 megabyte Our stack is now about

interplanetry scale distances

now—we've got to Mars.

A1 zetabyte stack is 333 x 10'°
km high (or 223 Astronomical
Units [AUI-1 AU is the distance
from the Earth to the Sun).

We've left the solar system!
We're now 10% of the In 2013 the world

33 m—the length of a
blue whale—high.
That's about 1% CDs
of mp3 music tracks
(about 150).

These days even basic
smartphones have a
capacity in the 10s of

Typically, in written English,
1000 characters would
equate to about 175 words.

p We've penetrate:

This can be thought of .Is about 3 kilobytes of data. ~ That's the equivalent of a e Stratosphere.  distance to the moon. enerated about
as 1 kilobyte of data A typical page is about 01 mm medium sized photo and would Geebyies Modern entry level computers CERN produce 30 g
thick—the width of a hair fillan old 5 % inch HD floppy disk typically have 1 terabyte hard disks ~ petabytes of data a year. 3.5 zettabytes of data

Find out more at jisc.ac.uk

° We provide relevant and useful advice, digital content and network and IT e
J I SC services, while we research and develop new technologies and ways of working.




